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T BR0S s mame® ©ioth, OMR wme s@is® abgals drise: e\ (g S0,
SECTION - A : MATHEMATICS (63 =°Q930)
|

I sum and product of zero's of a Quadratic polynomial arc 1. 1 respectively. then its
corresponding quadratic polynomial is

PR WA sy Erarge o Bk P g0 00 KOV 1,1 @owd, & 0 DB D6 ?

4
A v+l (2) 2 4x+l (3) »P4x-2 () e
2 I the ¢quation v +3) =10, the value of y is *4". then the value of x will be
3410 QEB0od® 1 @Bngy devd ‘4’ wond, X deod
(R (2) 2 (3) 4 (4) 3
3 \/; =} ‘/; is an irrational number, where p. ¢ are
(1) Iyen numbers (2) Prime numbers
(,.H/Rulinnul numbers (4) None
\/; + ﬁ 67 domg ©AN®, P. ¢ e
(1) &b domgen (2) @b dosgen
(3) ©s6Ban Hdowgen (4) & s
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Which of the following is true 9
(808 et A8 Nego ?

(1) d=0 (2) }?((I)):O (3) ¢={O} MI(CP'):O
> I = la.b. . d} then number of subsets of 4 are
' :{(l_ /)_ C. (/}@m};é,AéJ ’;‘O &uva é)g) "ma')g ¥
(1) 2) 12 9/]6 4) 20
¥ the pair of “quations 3x+4y=k and 9x+12y =6 has infinitely many solutions if k=
W=k ot X412y =6 hrssere us, ORVOED Fee $OA Gomd wd 4 —
(h 3 @7 2 3) 6 ) s
7 The base of common logarithm is
DODELPTO (oredi Sleaulele
(1) 2 (2) 5 (3) 10 A7 1
The pair of equations 2y + 3 ts the followi
8 I'he pair of equations 2XT3Y=7, 9x-10y=12, represents the following
(1) Parallel lines 25 No solution
(3) Infinitely many solutions 4) One solution
2 X+ l V=7.9x-10y=12 By R ESeTe 28, (808 oA Ao,
B 3 - “
(1) Saross Swen (2) s S
(3) ©508Dd JcSdenotron (4) J38 >3
9 It the given lines 2x+ky=1 and 3x-5,=7 gare parallel, then the value of £ is
2tk =1 @Bot 3y -5y =7 en Siross Spen ®and, k dewd
; 10
10 10
- 3) -13
(h 7 3 ) M -3
e ———
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10

11

12

13

14

‘l - i ! *
I'he zero's of a quadratic polynomial 4y2+8y are

4yv-+8y 0 205008 SINEY R rﬁ)"a"gm
() 0.4 : 2) 0,2 (3) 0, 8 4) 0,2

5
ax” —8x+4=0 o A Sreren BirsDHS ' g dewd

1) 2 :

() ) 3 3) 4 4) 5
a b ¢

If 25532‘7&3, then the lines are

£1) Uniq}Je solution (2) Coincident

(3) Infinitely many solutions (4) No solutions

a_hLa .

. = b, C ®oNd, ea'égwo

(1) 988 resb $0A doeran () 98w

(3) ovodRHd e EOA Gotrow (4) s Beod

The number T is a |
(1) Natural number _ (2) Rational number
(3) Integer ¥ Irrational number

"' 0d0 2.8
(1) Hsres Jog
(3) &g Dowg

(2) eddan somg
(4) 8o Homg

If the H CF of any two numbers is equal to ‘1’ then those numbers are called as
' ) Prime numbers '

1) Coprime numbers
(1) P (4) Rational numbers

(3) Irrational numbers
Bodhy DoPGL B8y K.e.ae. 1 oy, @ Toth ‘(oo:pso;ﬁ; roeeens OETD.

(2) Berd dowgen

(1) )8 B6rd DR
(4) o888 Jomgen

(3) SdeSan dopgen
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15 The value of log 51250 18

-

021501250 &8y Jend

(1) 0 ) 1 3) 2 4 3
16 How many two-digit numbers are divisible by 3 ?

3 8 arAosed Bokose dopgen ), ?

(" 30 (2) 35 (3) 40 (4) 45

In an A.P. if the first term is 4 and 9t term is 20 then 15t term is

17
2.8 ©oERA S esed Hessw 4 Hdaw 9 B Desd0 20 e9ad 15 H DS does ?
(1) 16 ¢ 32 (3) 18 (4) 36
18  The pair of equations x=0 and x=35 has
(1) Unique solution (2) Infinitely many solutions
(3) Two solutions ¢“HNo solution
x=0 8% x=150d dDEsere 2 KO8 dod e Sden
(1) 238 55 50A dotran (2) oHodDd FeHen $OA dotran
(3) Boch v EOA dotraw (4) enHod3 Jcsden EOA &t

19 The degree of a quadratic equation ax?+bx+c=0, g#0 is

ax2+bx+c:0, a#0 Y Jgb EGe9iun Boo&y. HOEreadn
(1) 1 2y 2 3) 3 4) 4
“A Sy M

s Y
20 The distance between the points (2, 3) and (4, 1) is
(2, 3) ©oaw (4, 1) Hochrhe DS ErSin Jod ?

(1) 2 2) 2 A 3 @) 25
. e . ; 3n ; i )
21 The slope of the line which makes T angle with the positive direction of x-axis is

X-0Z08 Swé 8 a4t L 800 Fatw B aren Jdod ?
(1) -1 0 (3) 1 (4) 2
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[ o Bare the roote af
15 ()] a . . .
Quadratic equation ax®+bx+c=0, a#0 then 02 +p2 =

by 4= 0, &
a#() el «of{bédaaén o‘.mézr reren o, fen @and, o2 +B2 =

IR
1 57 (2
(2) b—za —2hc).

~ _]—(//)2 +2 ) )
(3) o ac }%/_g(bz —2ac)
a

T 5 R T Gz .
I'he sum of first *»* natura] humbers is

WSES TN e ‘(oogpg@ ossn

] _nln=) nin
(1) z” ) }2/)/2": (2+1)

_n(l=n) 3 2
(3) ZH— 5 (4) Zn=n (n4+1)
The sum of 10 terms of A.P. : 2, 7 12,00, is
7R A by S — ®@0SEASD 10 Hore I Jod ?
(1) 340 (2) 345 (3) 240 5/) 245

[f a quadratic equation 2x2 + kx+3=0 have two equal roots then k=

2.\‘2 +kx+3= 0( ég B B0 db.)ézr Sooreren KB k=

(1) +642 2) +2483 2125 4) +£342

. . 2 _
The roots of a quadratic equation x -3x-10=0 are

x2-3x-10=0 :x(?&édeaaﬁ» BoEy Wrered P
(1) =5.2 (2) 5.2 72,5 (4) -2, -5

SPACE FOR ROUGH WORK / 2 &8 é&POiDOxﬁeoég, o) :yh ‘
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, \ =0 Ny
s ¢ " 5)
~ e s e
L # N / N
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R
. L i 3 — Tx =0 18
I'he sum of roots of a quadratic equation 3x Tx+11

27
37— Tt 1120 56 S Gy Drero Boghn .
A 3 2
7 7 3) 2 4 -5
s 2) —=
/,(/15 2 (2) -3 7
28  Which vessel shown in the below figure can hold more water ?
D
n 4 cm - 1l cm
——> | —
I cm 4 cm
(1) A & B
(3) same in A and B (4) Not decided
(B0cS el D (8, oy N3D KOA ok Kexh ?
(D .
| 0.. /e
N Uy
N—— .
1 20.8b. 4 20.2. ‘ .j
(1) A (2) B
(3) A D8 BS® 08r9 05mmin (4) dowousSiw
29 The curved surface area of a cyvlinder is 264 m? and its volume is 924 m3 then height
of the cylinder is B
() 3m (2) 8 m (3 6m (4) 4 m
2.8 Pl ANE), HEse Brogin 264 .. © S0 D% BBErein 924 9.8, wavd, © R
24
(1) 3 . (2) 8 . (3) 6 . 4) 4 %,
30 The radii of two cylinders are in the ratio 2 : 3 and their heights are in the ratio 5 : 3

then the ratio of their volumes are
Bock m:‘be) wg@vm@ S8 2 1 3 80k 70e Qe QN3 51 3 wawd, a3 D HOGPegoey AN

/m 20 : 27 (2) 40: 50 (3) 20:30 (4) 50:30
s »SPACE FOR ROUGH WORK / 9 528 Seranoseds RS
> (€ NES
v . T e o NG
H)\ P > . Y N 5
A -
Yy A Ny U e
v N N
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1

33

4

35

36

|| U pPRamass T2 RV AELS UEC |1Ine segment iOiniI’IQ the pOintS A{Xys )] ) GBQ LRA5F5 )

internally in the ratio m, tmy then P(yx, y)=

AI(-‘"I-}'I) 208050 B(xz,yz) DorHeos D6 Bae woaed) My M A)8S® wodsone

N80t DotvY) P(x, y) 51”5&_ rdseen

X, —MyX - :

" MYy TNy MYy —myy, MyXy +mpX) Yy MY
iy = iy m; —m, (2) m—my m =,

O o i WL P k24 mXy —MpXp MYy~ M)
(%) m; +m, m, +m, (4) my +n ’ my +nm,

The radius of the sphere is increased by 100% then the volume of the resultant sphere
is increased by

28 AP @Bng) TgrGin 100% oD, D8 Feio Gy, pd Hodroin Jod 2 HD ?
(1) 200% (2) 700% (3) 500% (# 900%

[f the radius of a sphere is '2r' then the volume will be

R0 By argrdin 121" eand, oo o H0hroin

4 3 3 8 3 323
(1) 3 2) 4nr (3) 3T 4) 3 T

A ABC ~A POR; ZP=60°. £Q=75° then ZA=

A ABC ~A POR; £P=60°, £LQ=T75°00ws, LA=___ , |
(1) 90° (2) 75° (3) 40° }9”/ 60°

The mid-point of the line segment joining the points (2, 7) and (12, -7) is
(2. 7) ®daxw (12, =7) DocthHos )k Terpodin By HEg Do Ardsren ?
(1) (-7, 0) L2 (7. 0) (3) (0, -7) 4) (0, 7)

The centroid of a triangle is (4, 1) and two vertices are (2, 3) and (7, 6) then the third

vertex is
8 (Bebes (heoesg Bosiw (4, 1) Hdaxw o9 Boch Bgrew (2, 3) 8ot (7, 6) @ans, wres 3o :
(1) (3, 6) (2) (-3,6) (3) (3, -6) 4) (3, -6)
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IAE O B L S A N 8 l )\
. B on uic pr AL IS
I tween the tangent and radius drawn throug
37 The angle betwee

538 6367 Bochip 3¢ TgTrgr08, HSoRe Bag ;;/S - (4) 80°
(1; 100° (2) 70° 90

. av from the centre of a ¢y,
38 Calculate the length of tangent from a point 15 cm away frol o

of radius 9 cm. -
(1) 11 cm (2) 9 cm /()0/12 cm (

DoY) SN, vq,.«
9 0.5, FgrGHOT o H)ErdB, oD Soldin ©od 15 Ro.D. BP0 &8 ) Sy

& Do) Do HYEPA8 Aadd 01800 PEHD SFH"HS ? 0 s
(1) 11 20.%. (2) 9 20.5. (3) 12 20.D. (4) R00.aD.
39 In the below figure ARST ~ A RBA then the value of x is

(808 Hk0 0B ARST ~ A RBA wand, X Jewd

(1) 12 (2) 24 (3) 10 %18

40 In the below figure A POR~ A ABC. then z+y=
(808 2350 08 A POR ~ A ABC o, z+ y =

3

—_——

e

P A 'S
3 g ,
30°N.
0 b R B
(1) 14343 (2) 94,5




RP and RQ are th
41 € tWo tangents to the circle with centre *O’ and ZPOQ =110° then
/PRO=__
O’ So[gdore &
ER0" 0 3)ed8  RP S0am0 RO 50 oySydmer @Bt £ POY = 110° wows,
/ PRQ = ~
P
) R
Q
(1) 70° (2) 90° (3) 350 (4) 100°

42 A circle touches the sides of a quadnlateral ABCD at points P, O, R and S then which
of the following is true ?

28 $)890 ABCD $&832rd) P, Q. R ©08ak S Dothipe o5 @85, (808 7° b 1gino ?

R__C ,
D
S 19
A
P B
(1) AB+CD=AD+ BC (Q(AB+CD>AD+B(
(3) AB+CD< AD+BC (4) AB+ BC = AD+ DC

43 From the below figure the value of 'x'=

1808 Hodw od 'x' e0d

A D
* 3
2 ' 12
4 > -
BV e =
() H (2) 12.83° —a3) 14 4) 25

SPACE FOR ROUGH WORK L& 8 Seronousedd g
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en e vatuc Ot 473
In the below ﬁgure OB=13 cm, OP =12 cm and ()P_LAB th

44 1 AB ®owd, AB o

(808 DHexin ©08 OB =13 20.2.; OP =12 0.2, Hdaw OP

(i) 5 cm(?0.3.) (2) 100 cm(0..) (3) 10 cm(o.)  (4) 75 cm(Ro..)

45 From the below figure the value of 'y'=
(Bod 6% 08 'x' Dewd
4

2022 n

X
B

(1) 2021 cm (0.5 @7 2022 cm (o)
(3) 2220 cm (0.5 (4) 2020 cm (0.5

46 The median of —4, 6, -5, 3. 0, 5 and 11 is
—4, -6, -5, 3,0, 5 605 11 © Degrdo

(1) —4 2) -6 3) 3 50

47  Average of 11 numbers is 10.5; If one of the number 9 js deleted, then the average of
the remaining numbers is

lléoagge) o0 10.5. 2.8 Dopg 9 D FoRoDD, DADS Qowge) HoeHd
(1) 10.1 (2) 10.5 (3) 9.5 , 4) 10.65

\ \ i .
gcollegedunlas



the pkl'obé.[.)‘i‘]‘iltl; : black ballg ‘6> red
0 : re
28 OIS 4 Sevy X»b:;;:g‘g’ed bal] balls. If one ball is drawn at random then
. Xe) 200¢4)
@me% S R0%68 o 2 S0P, 2k 08 QYD) Sorr Bavre ea X0y 2308
5
5 3) 1 1
(4) 3¢
0 Himode =29, mean — 32 then megjy, _
ETERD = 20, Krcayy = 3 an =
! 2 008, Boeserse,
(I) 29.5 SR
(2) 30
3) 30.5 (4) 31
1 In the right angle A .
ABC, £ B_gyo o3 '
90°, tan C =15 then the length of hypotenuse is
&8 0008 (Beheso A A ‘ . 5
(1) 16 pee 43:90’“‘“(7:5 BT, & (Babe K880 ) Jok?
(2) 13 (3) 21 4) 17
2 If tan(4-p)=_L 1 |
‘/gs‘COSA:E then Z B =
lan(A—B)=L3, cosA=% VoY, L B=
(1) 2= @ F 3) I z
3 4 3 3 W 3
3 If 4= 45°, B=60°, then sin 4 + cos B
A=45° B=60° e@ond, sin A+ cos B dend Qo ?
(1) 222 (2) 2242 o B g
) Sh 2 V2 | 2\2
4 The length of the shadow of a vertical pole is 3 times its original length. The angle
of elevation to the sun is
&8 &BB DB %)) Vs B, © &b PEHO 3 Bew OO0, BrhgIB @ e85 Baxy #gS iy 2
(1) 30° - (2) 45° S e0° - @) 90°
\

SPACE FOR ROUGH WORK / 2g 298 Seravossads goss
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th the clevation 6o

gr()und wi
0 2r® 60° Sy,

te string flying at 100 m above the

Fird length 015 & b tants JSE By, I8 S50 T

85
o8 mddto grd@od 100
Saws), ot FEH 208 ? - 55
50 - 200 (4) 7:—
100 A 2
= @ AR
M A B )
56 If sin6=cosB (0<0<90°) then tan6 = : |
sin6=cos0 (0<6<90°) @awd, tand = 1 ‘
4 (3) 2 (
(1) -1 (2)
57 The value of a5
\/1+tan20t
tano .o
\/1+tan2a
(1) cosa ,@1 sina (3) coseco. (4) seca
58 The tops of two poles are of height 20 m and 14 m are connected by a wire, If th

wire makes an angle 30° with the horizontal, then the length of the wire is
(1) 11 m (2) 12 m (3) 13 m (4) 10 m
20 . 80 14 . ) Ko Both Hoare §°90) B h & LOF . © oot §de Haross & 30

ol B, @ &°d BE) PEP Jod ?

(1) 11 . (2) 12 . (3) 13 . (4) 10 .
59 Identify the correct statgment -

(1) P(E)=-1 2) P(E)>1 (3) 0<P(E)<I (4) None

81 (800 Te36° HOGD (eSS -

(1) P(E)=-1 (2) P(E)21 (3) 0<P(E)<1 (4) d6 s

; 1
60 If sm(A—B)=5 and cos(A+B)=% then 24, /B=9

: 1
sm(A—B)=§ A cos(A+B):% ©ond, LA, /B=9
(¥ 45, 15° (2) 15°, 450 (3) 45°, 30° (4) 300, 15°

PO VOIIT Y"N\NHAD D1



SECTION — B : PHYSICS (788 73)2)

which of the following is the equation for given circuit as Pef Kirchoff's loop law ?

86 5 @D Jobdn BTSN A6 Hoaxrds B EGH0 IO ?
30

1 L Y
e
0

(1) 31+12=

— |
N

" % 4 12=0
— - 31-12=
(Y 31x12=1 ) 31x12=0 (4)

in the circuit given below, if the equivalent resistance is 10 Q, find the value of R.

Bocs mibgaIdd HoaoS® HOS "G Jewid 102 ©ond, R dend SF" b0
4Q
RQ
,_m —AAMN—
12Q

e
Vv

(1) 8Q (2) 16Q (3) 7Q | M

3 In series connection of resistors, if one of the resistors breaks down, then
17 circuit is open and no current flows in the circuit

(2) current increases in other resistors

(3) current remains the same in other resistors

(4) current decreases in other resistors a little

Woron B sOOPE DT 2. BB SEn HIDANEITB, @ POSIN

(1) soopo BB, $0N0SE DG Y9I TR uhDtH0d
(2) wAdS HEgrod® AgS YT T 2 &0d

(3) wAdOS ot gred® Z)dagéma"a‘rén @Oo® G0oLVod

(4) ADS Dfred® AbgdYT T O S &00

s y gcollegedunias
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Usage of fuse in a circult prevents 1okl -
(1) Power cut (2) Overload }3) Short circ

28 doonos® Hrgd Hiv)ow SPard&0B. | /
(1) hgd s°s (2) 4%6 &6 (3) b 085 8&5 (4) 3R soed \

(4) None of the above

A bulb is marked 60 W and 240 V. Find the resistance in the bulb.
a8 we0) 60 W 8o 240 V od 8052836, 2e0y88d IS Ean Jod ?

(I) 400 (2) 180Q /(2’)/96052 (4) 60Q

The magnification of a concave lens is always
(I) equal to one  (2) less than one (3) greater than one (4) none of the above

PEsE Losiin @y SHEHN e |
(1) 28838 Somstny (2) a3 €08 050 () 288508 D (4) DI =P

Angle of vision of a healthy adult human is
6800 ¢y Sty
(1) 10° 52/)’ 60° (3) 90° (4) 40°

In an eye, muscular diaphragm between aqueous humour and the lens ig called

(1) Iris (2) Pupil (3) Retina ¢) Cornea
036", JFE (508 Eerse28 DG 0B LoBEIEH & IHE Beness
(1) 0 e (2) s (3) BeSw (4) $8)atr

Which of the following is true in case of a concave lens ?
(1) Erect and virtyg] image (2) Inverted ang virtual image

//3{ Erect and real image | (4) Inverted and req] image
QETS Y S5 H00B0 &, (Bod a&36° DB ¥R 2

(1) 38 dev) Bty DEeg [(53Boestys

, (2) doBothen BHvos, DG (HBDo2H0
(3) A deng) DBy des (HBPowrioo

(4) SoBothren ©Ba% es B0y

SPACE FOR ROUGH WORK / 8 538 Smomomms gty
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70 For a convex lens magnification of virtual image is possible only when the object
distance 1is

(1) equal to F (2) greater than F
(3) less than F (4) none of the above

0277578 L8 Hod o Ershn et B GoDBIPE WEeg (HBH02N BRI Bochod ?
(1) aigodsind®r Bhrd Srdin (2) wresgossin S0 Ny
(3) Taigossin $o8 8%y (4) b s

71 What is the focal length of a plano-convex lens if ‘R’ is the radius of curvature and
'n’ is the refractive index ?

e Hogrsed Shgin By, Hse argrgin ‘R Hdam H 82555 tHeasinn ‘N’ e@owd, Tgossn
o ?

() f=R @) f=% oy 1=~ @) r=21

72 What is lens maker's formula ?

E6E S8 HD KB dES ?
: 1 1 L o o1 1
M:(Il_])(R_,+_R;) . 2) ?—(n U(R] R_)

I 11 1 11
o) =007 @ =005

73 The focal length of a lens depends on

i (1) Radius of curvature (2) Refractive index of the lens

; )}) (1) and (2) (4) None of the above

: o8t Gng) Tegodtin B YerEdBD.

f (1) e ogrgin (2) seasin @ngy H8a5sd eagin
(3) (1) &bam (2) (4) 26 soeh

SPACE FOR ROUGH WORK / 9é 38 Séranosadsd o0
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74 The size of the image formed by a convex mirgor is always
(1) Enlarged /(Zj/[)iminishcd /
(3) Double size of the object (4) None
0258 (80 SIS (HBDo2) DO N STV
(hH 9)8 Boadd (2) d%8
(3) Ko 8oB 8oy (4) 8 =28

75 The spherical mirror whose reflecting surface curved outward is
(}y Convex mirror (2) Concave mirror
(3) Plan¢ mirror (4) None

5 I

D BPsE S5 i 06 Do e Y 200 BN &oenod ?
(1) ogrses 66t (2) Derss 6y
(3), Sde 82080 (4) 8 s

76  Every lens has focal points.
(S SLrEa00% Teehenotrown.

1 2 (2) 4 )6 48
77 14 gonvex lens is placed in water. it's focal length
ir_incrcascs (2) decreases (3) does not change (4) none of the above®

Do Seosin ISt GODRI P & Tgrgosting

(1) 269 (2) &b (3) droes ) 28 ey

78 The type of mirror used in solar cooker is
7 Concave (2) Convex
(3) Concave and convex (4) None

JBerd $8).5 S0 &d@rAoE GBI

(1) Derss (2) Soerses
(3'3)"’. DErseS Lwboxy Hoersed 4) b s

SPACE FOR ROUGH WORK / W& N8 Beranosndd e
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e minimum distance of an object from the pole 10 obtain real image in €as¢ of a

cONLe AR IHHIUI 1S

R DaH0E ez (HODoN Do B0B, w@b ®)

—v()

s 0D oS & BrEoS”

g0 4

(1) | //_’{213 (3) 0 (4) F/2

g I e focal length oba spherical mirror is 10 cm, what is the value of radius of

curyature ?

(1) 10 ¢m 1 20 cm (3) 30 cm (4) Non¢
K (580 By Tagodsin 10 wo. By, oD, HEE T dod ?

(1) 10 0.2, (2) 20 0.2 (3) 30 0. (4) b =&

g1 Which of the following is the formula for magnification in case of spherical mirror ”

Buesd GO0’ GHEHIHG (@R 8 ?
-U

\ =V U =
(7 /u«)/—l,— B v 4)

)

§2  Parallel beam of light,éﬁer passing through a convex lens pass through a point called
(1) Pole (2) Centre of curvature
(3T ocus (4) None of the above

o SroB orbn HOoPTSS SRSy (How BotroDs Swd O Do ow TP ?_
(2) e Solsdmw
(4) 2D 5D

(1) ¢y
(3) =3 .

i S

83 Multimeter can be uséd’to measure

(1) current (2) voltage (3) resistance all of the above
{ )
e e ei@rhoD BRY Sed HEN |

(1) Degd (2) S8 (3) Pessim (4) 3900

8 Which of the following relation represents Ohm's law ?
& |BoB @ HOOGI 5,5 JoHEND WrDRO ?

. 1
Eh &% ,_,_) V“T (3) v=I 4) p=VI
SoACT TOR ROUGH WORK / 28 398 Seranosass geis
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]

A person is advised to use 5D lens. What is its focal length ?
(1) 50 ¢m

(2) 5 cm (3) 2 cm ,(4{30 cm
8 9988 5D SOs°) TrEred rdosadds. o T2rgodsin Jod ?
(1) 50 20, (2) 5 %0k (3) 2 0. (4) 20 ®o..
86 SI unit of resistivity is
R AP0 By S| resitny
() ) Q-m (3) Q-m? 4 Qm™!
87

Focal length of the eye lens changes with the help of
(1) Pupil

(2) Aqueous humour
(3)Ciliary muscle

(4) Optical nerve
T088° 5058 a0t B3 KFotid frt0s,

(1) g0 (2) J& ey (5o
(3) 2Hoxd gowsso (4) 8y8 =8

o]
oo}

Direction of electric current and direction of electrons in a conductor are
(1) Same direction

(2) Perpendicular to each other
)}«V”’Opposite to each other (4) None of the above

28 TFES” IS8 e B, JOSIDO BF i ASorr dotraw.
(1) 28 &%

(2) 28 o8 eowone
(3) ésé‘éé &%

(4) oD s

89 Obstruction to the motion of electrons in a copductor is called
(1) Conductivity (2) Resistance é)’)/?{esistivity

(4) None of the abo
eSS QT SIS SOR B0 ) B VOLT).

(1) ardrgsgan (2) P8 (3) 8% 28 5o (4) 3%amm s
90 The defect by which some people can not see near objects clearly but can see dista
objeetS is called
Myopia (2) Cataract (3) Presbyopia (4) Hypermetropia
Fodth dism &) KpHow B SrEBh 5 drdor &) Fded drdtod. S S5
QT VOLTY, ;
(1) g ey (2) %o Hzren (3) Wergdin 4) ég Sy
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POLYCI1-2020—B | 18 T

gcollegedt



SECTION — C : CHEMISTRY (6370009 T2

which of the following is a non metal ?

91
1Bo® 85> @S0 8 ?
(1) Pb (2) Sn 3) K 4) S
g7 Which of the following process is used for the purification of crude metal ?
4) Froth flotation

(1) Roasting (2) Poling Calcination

808 T&3S° SEHRS SHArHOB HOB 26 ?

(1) &0 (2) ook (3) eS80 (4) H5% |8

93  Which one of the lollowing metal occurs in the native form ?

' |8od &S, (888" e Do ozigralg &

MAu_ | ) Ca

e metal in the activity series is

b ile)
(3) Mg | (4) Na

94 The more reactiv

1y Potassium (2) Tron (3) Zine - (4) Platinum
SoegRed Re3S® 068 SorgRed do Shiro

(1) Pperdo00 (2) add» (3) 0§ (4) &0

9% The carbonate ore among the following is

(1) Bauxite Magnesite (3) Haematite (4) Carnalite

Bod wre3&® 58 )5 D IO ? |

(1) &3y Q) e RS (3) TwBs (4) 56y
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, the follow1
96 Identifv an acidic flux among

Boz5od.
Bob TS wiyigerso o (635700 O

4) CaCO
/ Si0 (2) CaO (3) MgO _ (4) 3
) S10, P

; ?
i i iolating Hund's rule *
97 Which of the following electronic configuration violating

v, ¢ ”
808 838" 0B JVHPA) GOORWOT JOFIS DTFM B

O )] St
2s - 2p - 2s 2p

@)’ﬁ RE CORINIEINIE
g 2p 2s 2p

98 The classification of ¢lements which is based on atomic number is

(1) Dobereiner's law of Triads (2) Newland's law of octaves
)2’)/ Modern periodic table (4) Mandeleeff's periodic table

DEErED Q0D D WETEHAS Qarersee éégcssa 28 ?

(1) @2bsh 9 N odin

(2) &rgeroBy e ovmm,
(3) &8 w5 23 (4) B0oddS wiess ses

99

(1) 3.0.0. +1/2

(3) 3. 0. -1. +1/12

100 Which one of the following electroma

(1) Cosmic ravs (2) X-

rays 3 '
e N ‘ (3) Uv rays . (4) Radio Waveg
808 mgow.;o 08 J8eredst D HE i’?"é@cago $9a 4otyoa 2
oQ 7
(1) 52§ 86egeey, (2) X-Bbegney, (3) UV, g
' e

(4) day SSorrey
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01 Order V1 Silgy Bl BLOLIS
0Yerg 8 (800
(1) 3s>3p>3d>4s 2) 3g<3p<3d<4s
(3) 3s>3p>4s>3d (4) 35<3p<4s<3d

07 The total number of atomic orbitals in third shell of an atom

2,8 5P St QD §88° sod W0 )erey Vowg

(1 1 (2) 3 » (3) 9 /(4{18

103 Which is the least electronegative element among the following ?

(1) Lithium (2) Carbon /(/)/ Nitrogen (4) Fluorine
B0 eI S0y e WSEEEES (o oL 26 ?
(1) O8aso Q) 58 (3) PSS (4) 305

104 4f elements are called as
(W Transition elements (2) Alkaline earth metals

(3) Actinoids (4) Lanthanoids

if Gorosom O o 2P ?

(1) s0i5% foreseen (2) 6 D88 Ssven

5) wtmang (4) erograng

1 ; .
05 The element which belongs to 3rd period and 14" group in Modern periodic table

(1) Aluminium (2) Silicon Phosphorous  (4) Sulphur

B wdss He38S° 3D 58008 woam 140 (IR BoBHHOE QarerEty

1) vergmaopo  (2) 305 (3) 268 4) %36

S~

I
SPACE FOR ROUGH WORK / 98 598 Semoncss Mpeaesedunis




- s nucleus 1s
106 The orbital with more penetration power towards
S 6 ?
o8 Ty T A wgarsin oy Hm 63) efg)éf’

b 4) 4s
(1) 4d () 4f £3) 4p @

107 The electronic configuration of an element is 2, 8,96. Which one of the followiy,
element is chemically similar to the above element *

/ :
(1) Nitrogen (2) Oxygen (3) Phosphorous 4 Chlorine
JOFIS g0 2, 8. 6 $0AS e reo, (8o @YD O wregod S ansorm I dotwos 7

(1) P (2) e8yas (3) 68 (4) o5

108 Which of the following pair of atomic numbers indicates the s-block elements ?

106 TE8S° O e3¢ HSEre Dowgen $-20% DiresteD e dRpan ?

(1) 5,6 (2) 9, 10 3) 11, 12 44 7,8

109 Identify the salt in the following,

808 Te368* ebmind 98004,

~1) NaCl (2) NaOH “(3) HCI (4) HCN

110 Solution with pH less than 7 is

(1) Sodium chloride solution

(2) Sodium hydroxide solution
(})/Acetic acid solution

(4) Slaked lime
PH devs 7 g5y % o (TSt

(1) Faano B8 (asmin (2) Faaso r(a86 et
(3) RS ety (orieaitay (4) 48 woyin
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THRLL endothermic reaction, heat is

(1) released (2) not changes (3) absorbed (4) all of the above
SIS SEgS” S

|

(1) b (2) &y dodch  (3) (Rroswbn  (4) RR0WD

{12 One mole of Propane (C3H8) on combustion given ‘X’ ki}lo joules at STP. Heat'liberated
by the combustion of 11.2 litres of Propane at STP in kilo joules is
28 IS @95 (C3Hg) STPisgs esirso Aaxstopeto X' 86° Sy mpod. STP 0 11.2 deg S %
0 BRI Aboderd aiw 86 &) o
(1) x @ 3 (3) 112 % M) 2

113 A Na+BH,O — C NaOH + DH,, in this equation the values of A, B, C and D are

A Na +BH,0 — CNaOH + D H, &8 sdggwind® A, B, C ®date D deoden

(1) A=1, B=1, C=2, D=1 rA=2, B=2, C=2, D=1
(3) A=1, B=1, C=1, D=1 (4) A=2, B=1, C=2, D=1

114 Compound formed when excess CO, is passed through lime water
9D A g8 08 CO DOXDYP D QB K)O"gm)

Ca(HCO
(1) Ca(OH), ) CaCO; () CaO 4) a( 3)2

115 Mixing acid to water is P
(1) exothermic reaction

Mulralis‘ation (4) none of the above
38 wird) SoDB0

(2) endothermic reaction

(2) e sog

(1) eaydrss S63
(4) 2 s

(3) ée)fgédsoé»
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116 Bleaching Powder is formed from
. , ot L
(1) Slaked lime + 110 (7) Slaked lime |

(3) Quick lime 1 11C| (4) Ouick lime + Oy,

DDA B HSnod Dd(adn&oa.

(1) 88 woy0 + HC (2) 86 »ivyo+ (1,

(3) 6 w0 + HC (4) &8 wiyo + CO,

17 Maximum number of clectrons present in an orbital of atom iy

e B0y wd S & dod Do

/(’/r) 8 (2) 6

9% (10 owg

(3) 10 (4) 2
118 Bases can give ions in waler,
S soomey AR . ‘
s (2) O (3) Hy0! (4) O’
119 Colour of anhydrous CuS0, is
(1) White (2J Blue (3) Green

(4) Yellow
STe)) CUSO4 8otk

(1) Bengy (2) deo () wtoms, (4) g
120 Washing Soda is used in —
(I) Glass, Paper Industry

(2) Manufactyre of borax

(3) Cleaning agent for domestic purpose (4 All of the above

7208 Ve voces SOABPARPE.

(1) o, soas HOF &t (2) ?3“0"5() Soxrdest

(3) efyisiore g0 808 D@ods v | (4) 29y a0

—
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SECTION = D : BIOLOGY (i)

121 ‘Total amount ofurine excreted per day by humans is about litres.

syt Berty Dl bexts torient), Lipdrts
—_— YU) AR ",”f, "7,'_.,"/0,
(1) 1.0 - 1.2 (2) 1.2 -1.4 (3)) 1.4 - 1.6 )A%.F) - 1.8
122 (/\ITH/{]]II)‘;:”:gde\;V;rS formed in the photocz{mical phase of photosynthesis are
A 42 ADP and NADP
(3) AIP and NADPH (4) NADP and NADPH
Bmesig HoBrEBond’d) Brob Gronh ik Z)o’l)a B btm 46D
(1) ADP &toty ATP (2) ADP %bas NADP
(3) ATP 8o NADPH (4) NADP @oo5 NADPH

123 The_sccondary function of lungs to carry out excretion is
() Removal of CO, and Water (2) Elimination of Sebum
(3) Urca formation (4)' Excretion of excess salts
BDBEIN wborr B s (B DEHT
(1) CO, 28050 W a0t Hodes (2) %es0 B0y Aryos
(3) a%rdayr $oxrd (4) ©bf odare FKEH

124 Identify the correct photosynthetic equation. |

. Light :
m — e
(1) o ()2 { ”2() Chiorophyll CHZO + HZO + 6()2

7

L Light T

(3) 6CO,+6H,0 —Chigrophyll

. Light ’ (T
,44(()( 0, +12H,0 ~Chiorophyll CeH, 054 6H,0 + 60,
o850 BB B ECErd) (HBoI0s.

, 5°08 g
(1) 6C0O,+H,0 —pE0so CH,O + H,0 + 60,

. 5708 -
(2) CO,+2H,0 —g0so CH,0 +2H,0+0,
) 808 :
(3) 6CO,+6H,0 —hBsoso CgH 504 + 6H,0 + 60,
. 808 \ ¢
(4) 6C0,+12H,0 ~ Ggamodo CgH|;04 + 6H,0 + 60,

C¢H,,0¢ + 6H,0 + 60,

B 2sdg Hoddrd B
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125

126

127

128

i 5 ion unit. ‘
functions as filtration M}lom””h“
(1) Bowman's capsule

(3) Loop of Henl (4) Renal tbule
oop of Henle

DU (Brevorr 6 QERarRDOB-

(1) &8 (2) o534 =08 IO
TS T
S
(3) ] 550 (4) 5y =9
The latex of plant is the source of biodiesel. /
e . )
(1) Sapota (2) Chicle (3) Hevea

— W% 38EY 208 ArdaS ©» atrd: By,

Jatropa

(1) e 2) 286 (3) dorte (4) >

Each human body cell contajng of Autosomes.

(1) 20 Pairs (2) 23 Pairs k?{22 Pairs (4) 24 Pairs
P95 Swod W) zde FHpg (8506 (68" Fner) &oeray ?
(1) 20 esey (2) 23 ey (3) 22 agey (4) 24 ey

ucture byt perform similar fyne

X2

1) Homologous organs N
( g g ) Analogoyg Organs

3) Vestigial
(3) Vestigial organg (4) None of the

tions are calle

| above
V0°3806° Sy 408, 28683 1ag LTI OdAarerng,
o N VoL, .
T 4% g eaparey g~ - (2) Basmmg,
gsid
(3) SRPSarer, e

ollegedunia:s
b \



129 Differences in character within closely

as

(1) genes %) variti
(2) variations (3Y°(1) and (2) (4) None of the above
(‘.’)({jd J020080 Ko KoY Iodd BHo g Ko oot G0B DO @otrd).

related groups of organisms is referred to

(1) sdgden (2) Bergen (3) (1) ooty (2) (4) 3R =D

130 A cross between a round, green seeded pea-plant (RRyy) and a wrinkled yellow seeded
pea-plant (rrY'Y), the seeds produced in F, generation are

(1) Wrinkled and Yellow (2) Wrinkled and Green

(3) Round and Yellow ) Round and Green

oD B0 BB ATre (o 2o g (RRyy) dwdéen DA KR ddTren do

K & (YY) do8de 2dum, F 860 Jtwdoes ddmren o By oD DEHODOB.

(1) Soodhrsen DA HY (2) dwodbden D0 BLHDDY
(3) ¢holed HBOK KR (4) 0|8 B LIS

f monohybrid cross is

131 In F, generation. the genotypic ratic 0

') 860&", D K056
A5 301 3) 1:2:1 ) 3:13:9

(1) 9:3:3:1

132 The phrase Omnis cellula e cellula, or cells arise from pre-existing cells was
1e phrase

propgsed by :
(2) Vi rchow (3) Lamarck (4) None of the above

) Mendel
8 s o) g0l adys pREon (62)F 2038 @ Degd) ©B groeed) 6
gIee @O0

d>0md 7 4 253
(3) erarby (4) 205
(2) 26°° -
(1) Dosd
GpACE FOR ROUGH WORK /0 508 Beranosadd poin
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. is called
. , Tower 1S €a
i the same |
133 Transfer of pollen grains from anther to stigma of

self ination
(1) Cross pollination /(szSelt P((:”;;i‘/
(3) Hydrophily (4) Anemop _
5005 S0 008 2070 Sewhen ©B Piyo Engy Sor(rd) BOED
(1) 38 o Hoxsy.0 (2) ey oo x>oxx53,o
(3) =e HorK HoS)0 (4) o Hoers HoXSZ0

N : as
134 Growth of a Plant in response to a light stimulus is known

ism f'the above
(1) Geotropism (2) Hydrotropism ,(13’)/ Phototropism  (4) None o

WL e 57088 wdEreoT 1odoSHLD ®oerd ?
(1) woegussto  (2) & obissso (3) w08 vttt (4) T Y
135 Plants which undergo the vegetative reproduction through roots
W1 Colacasia and Ginger (2) Murraya, Guava and Millingtonia
(3) Bryophyllum and Scilla (4) None of the above
3 argoe FHaw D588 22HYHHD W) 0% sordrdmen
(1) Seostatr woam ogo (2) Bogatr, e wbasy YR Dk
(3) EArPRS wBak Der @) Wey

136 The fluids secreted from seminal vesicles,
called seminal plasma. The seminal plas
(1) Plasma

prostate gland and Cow
ma along with sperm

(3) Placenta

per's gland collectively
is called

.
—_—

(4) None of the above
BErirgen a8 Td (&80, Ty (odPraren, %58 (on Rraron o2

DS 5}#; DBa B8 Serod 82
(1) grax,

Semen

WHS R 3 ©OLr.
V0L,
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P controls the Movemepy 0

(1Y Epiglottis @) Pr f'food ang air towards their respective passages.
) arynx N
/ (3) Nasal cavity (4) Trachca
$e9y 0 sal cavity
HTILBI O 89 s Drost Eowrzey &
(1) aoaa?al"sé 2) 14
o (3) =98 ©wusso (4) aoomreo

18 Muscular tissue present gt the floor

1) Bronchi D
(1) /@)) Dlaphragm (3) Trachea (4) Alveoli
66: 5T BDD 22K0S® god Sodtansmg des,

f the chest cavity is

_ 0. ‘
1) =Bredreren v
(1) =3 (2) deras te0 (3) wgoiuss (4) somwfeamen
139 ye absence of oxygen, glucose is converted to ethanol in
) Plants (2) Animals (3) Yeast (4) Lactobacillus
©8)20 0gose Hos® 8L a8S &® SrdHeod.

(1) 2o en (2) =08Hen (3) &5

(4) &r8eres

140 During cellular respiration, energy is stored in cell organelle.

(I) Golgi complex (%/Mitochondria (3) Nucleus (4) None of'the above
8% T8 207 Hoonos® #8 ) Seroros® JecBan k0.

(1) ™ 0850 (2) E)esssvo@oﬁ" (3) Sosso (4) W =P

141

is a vital link between blood and tissues by which essential substances pass
from blood to cells and exeretory products from cells to blood.

¥ Lymph (2) Heart (3) Arteries (4) Veins

850 wod Ahsred |(firod SwroH ©oboddo, Swrolod Hyer o“oo‘g"eén 60D, dgoeSE(‘Oé
B6)d0 erots srorgos T 6d) et €803 S S7go Dot ?

(1) sPass0 (2) o (3) e (4) 8en

SPACE FOR ROUGH WORK / 2& %98 $éronoseds dodn
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. in 1661.
142 Blood capillaries were discovered by _— illiam Harvey

(1) Marcello Malphigi )(; ) Rene [ aennec
(3) Girolamo Fabrici
1661 & 68 S5 980D LB ) o 50
2) d®o0o
(1) &Bye® m»@opa (2)
(4) Bd T8

(3) peoRr O

143 _ protects the heart from shocks.

i ial fluid
(1) Pericardial membranes Pericardia

(3) Auricles (4) Ventricles
HOBD Virere Wod _ sodrdhidod.
(1) &)sor6m Sgaren k) yieteate 500
(3) soser (4) 2638en
144 In trees, removal of pfevents transportation of food.
(1) Phloem /5) Xylem (3) Xylem vessels (4) None of the abov
Bes® d g"éﬁoi)tﬁéyé; VIS Sares A BoSackHos ?
(1) D8 Smerrero (2) =y - (3) Y ey (4) 3389 s"@
145 Serves as a.shock-absorbin i
_ g medium and : i
shocks/jerks along with the meninges and cranium protects the brain agains
(1) Lymph
) Lymp /@{ Cerebrospinal fluid
(3) Blood 4
(4) None of the above
S0, Do e R DEEHD) e
- "V OO 908 sderdon,.
(1) &% 0
) 2y S
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146 Which part of the brain controls the emotions ?

(1) Cerebrum | (2) Diencephalon
(3) Mid brain ' 4y Cerebellum

DS By @ 0 PraraEreD JoVoBYod ?

(1) yo | (2) orgs ﬁsgo
3) g DS (4) oAY.0 (BDOD)

147 The mode of nutrition in Paramoecium is

(1) Ingestion (2) Absorption _3) Parasitic (4) Saprophytic
FeoeDRONS® Ve Desorr thtHeod.
(1) @088 |(ireo (2) e (3) Hoed) Bddo (4) Hrds=*so

148 External fertilization is observed in

(1) Monkeys (2) Humans [({) Fish (4) All of the above
sy Hobdgsem0 &° 225008, )
(1) Sde ) wspe  (3) Be (4) 280y

149 are fat soluble vitamins.

FHIS® 08 MV A ?
(1) B & C @2 A& C 3) B & D @ A&D

150 The structural and functional unit of nervous system is
}J)”Neuron (2) Nephron (3) Osteocytes (4)
6 HgH By doeyegdy 8 Ewdavy (Bowrdy§ [0

None of the above

(1) =& Swo (2) S (3) SRR 3 en (4) 3 =P
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